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Al EATREAFEE EMENM(—MA) AEEMmw £ | B £ | =
AFMEFRTHERATES > RIS HERY XHEABRELEE (F) AL

L. B4 B Y1738 & £ 443 (Relief Displacement) & A4+ 4 4% (Tilt
Displacement) ° [20%]

2. HvALe B AU F AT KK L B(Geoid) ~ 13K 3 (Geometric Height) ~ #o
iE 3 (Orthometric Height) » ¥A & sk = & Z B 4% o [20%)]

3. BBHRA—FE 6370km LK » A—HEAREZEL ST B L5
650km » 3 A 4% (polar orbit) 7 KB MK » FHELEEUATEHE - (3%
Sl AT A ST HE )
(a) M EBAMBRE © [10%]

(b) AR AMTE A 30° LM A EATHS A ) ZABMBZHRAHEET 5
(Nadir)Z AE47 2 & 10m » 217K T 8B Z M4 B & 2% F 2 [10%]
(#F7—) EhhirE :
agm‘—'GMemh/r2

G=6.67428x10""m'lkg-s’; M ., =5.972x10" kg
(7 =) sk & HBIE 86164 4

4 EFTAEMEGT » BRARYGH BEHRY OE LA 48R 2 SRR ? 3
AL B AL FHA o [10%)

5. SPOT #1 2 & 5 — BT ARFHRA 6 R A HRARRMTE » T k270 84744}
ﬁmo%m&ﬂ%ﬁE&MLﬁﬁﬁ%&ﬂmw
6. What color is the sky of moon during daytime, and why? [10%)]

7. Please explain briefly the meaning of the term “atmospheric window” and its role
in remote sensing. [10%]
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